20256 hPEAR HEE % 2A1H
= ES BRE 5% = | EEER
1 [VRZVY |FEIRE 2 100.0%
2 |[UR=VS BRI 2 100.0%
3 [UR=VS  [BIREX 2 100.0%
4 [YAR=S  [EIRE 2 100.0%
5 [URZ=VS  [BIREX 2 100.0%
6 [VR=2SF  [FERE 2 100.0%
7 [UR=VS [EIRE 2 100.0%
8 [UR=2H  [EFERE 2 88.9%
9 [VR=VH  [FERE 2 100.0%
10 [YR=2S  [EIRE 2 88.9%
11 [YR=2S  [EIRE 2 77.8%
12 [UR=VS  [BIREX 2 100.0%
13 |[UR=VS BRI 2 100.0%
14 |[YR=VS BRI 2 66.7%
15 |YR=VY) | EiRER 2 100.0%
1 |U—F7429 |ERE 2 88.9%
2 V=719 [FERE 2 44.4%
3 |[U—T425 [BIRE 2 55.6%
4 | )—FT425 [BIRE 2 55.6%
5 [U=—T4245 [EIRIX 2 33.3%
I 6 |U—T125 BRI 2 88.9%
7 |V—T4>5 |FERE 2 100.0%
n{ 8 [V—TFTa12y [FEFREK 2 100.0%
9 [U—T129 [FERE 2 100.0%
I [ 10 [U—T14>9 [FEREK 3 100.0%
11 |U—=—T1245 [EiRIX 3 77.8%
n 12 V=745 |ZERE 3 100.0%
13 |U—T4>9 [EREK 3 100.0%
14 V=749 [EREK 3 77.8%
15 |[U—T1245 BRI 3 77.8%
16 [U—T«>4 |[ituk 6 44.4%
17 [U—T4>% [ituk 6 66.7%
18 |U—T 4>y |giik 6 55.6%
SAT49  |EEX 16 0.0%

20256 hPEAG HEE R 2A2H
= ES BRE 5% = | EEE
1 [WRZVY |ERE 2 100.0%
2 |[URZ=VS BRI 2 100.0%
3 |[UR=VS BRI 2 71.4%
4 (YRZ=VY  [BEIRE 2 100.0%
5 [UR=VS  [EIRE 2 85.7%
6 [VR=2SF  [FERE 2 100.0%
7 [UR=VS [EIRE 2 85.7%
8 [UR=2H  [EIRE 2 100.0%
9 [UR=VH  [FERE 2 71.4%
10 [UR=VS  [BIREX 2 100.0%
11 |[UR=VS [EBIRER 2 100.0%
12 [UR=VS  [BIREX 2 85.7%
13 |[UR=VS  [BIREX 2 100.0%
14 |[VR=VS BRI 2 85.7%
15 |YR=VY) | EiRER 2 85.7%
1 |U—F7429 |ERE 2 57.1%
2 [U—T129 [FERE 2 85.7%
3 |[U—T425 BRI 2 42.9%
4 | V—TF425 [BIRE 2 0.0%
5 [U=—T4245 [EBIREX 2 71.4%
I 6 |U—T125 BRI 2 100.0%
7 V—T4>5 |FEIRE 2 100.0%
n{ 8 [U—TFT12y [FEFREK 2 100.0%
9 |U—T1429 [EIREX 2 85.7%
I [ 10 [U—T14>9 [ERE 3 100.0%
11 |U—T1245 [EIRX 3 57.1%
n {12 [V—FT125 [FERE 3 100.0%
13 |U—T4>9 [EREK 3 100.0%
14 V=749 [EREK 3 85.7%
15 |[U—T1245 BRI 3 100.0%
16 [U—T4>% |[ituk 6 57.1%
17 [U—T4>%  [ituk 6 0.0%
18 |U—T 4>y |siik 6 14.3%
SAT49 |EEX 16 0.0%
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